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O Solve each system by graphing.
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7) Rob anEin Abhasra are selling pies for a school fundraiser. Customers can buy apple pies and
blackberry pies. Rob sold 10 apple pies and 9 blackberry pies for a total of $250. Abhasra sold 5
apple pies and 3 blackberry pies for a total of $95. Find the cost each of one apple pie and one

blackberry pie. Qe +9b = 250 50+ 3(2c) = 9% CPpie pies: BT1.00
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8) Jose's school is selling tickets to a fall mﬁgiéilf%n the first day of ticket sales the school sold 8
senior citizen tickets and 9 child tickets for a total of $96. The school took in $36 on the second
O day by selling 4 senior citizen tickets and 3 child tickets. What is the price each of one senior
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Sketch the graph of cach linear inequality. —X e
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Sketch the solution to each system of inequalities.
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